H & 0l & AHS B Ml A

0248 =0ila eI 22 F50
A 2ZEFCN
Hm: 2ATC AW s
el sitE 22 ¥ 7S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SRS 22,593,259 27,803,967 /5,210,708
= 439,706
Jl 185,910
= 8,649,795
Al 13,347,848
STIEC JYH Yot 22,489,209 27,696,331 Nb,207,122
= 439,706
) 185,910
= 8,649,795
Al 13,243,798
sitE 28 & |SSHE 3,702,952 3,6%,021 6,931
= 25,000
Jl 130,000
= 1,173,230
Al 2,374,722
Rleter =4 FA 18,000 20,000 A2,000
307 @120l & 18,000 20,000 /2,000
04 QIZHHAMAIH 2 £ 18,000 20,000 22,000
Oxlotet H242 SH
18,000,000 * 14! 18,000
ZEY AHIEX X2 39,500 416,750 A377,250
= 11,850
Al 27,650
301 EtE N = 15,000 360,000 A345,000
= 4,500
Al 10,500
14 DBt 2 a3 15,000 360,000 345,000
OZ 3y HEAHIN Xt X2
15,000,000 * 14! 15,000
== 4,500
Al 10,500
307 glztol & 24,500 56,750 A32,250
= 7,350
Al 17,180
02 2B YA HE X 24,500 56,750 N32,250
oY AHET X
15,000,000 * 14 15,000
= 4,500
Al 10,500
OZag AHIFEN XS (NEETH)
9,500,000& *14] 9,500
< 2,850
Al 6,650
SMHEZMAIE &= 45,000 100,000 /55,000




A 2ZEFCN
Hm: 2ATC AW s
ool sa2 28 2SS (cre:xigl)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 AlZHIZL SO 45,000 45,000
01 Al&H| 45,000 45,000
Osa=0AIE AlES U SUAHE
3 45,000,000 *14] 45,000
st =7 HE9 720,000 800,000 80,000
307 @12to| & 720,000 800,000 80,000
02 QB HANEEX 720,000 800,000 /80,000
OS2SR A= N2 (ES22 S 29f
=) 720,000,000 *14] 720,000
stte SHUSH X 7,000 16,333 9,333
== 2,100
Al 4,900
307 elzto| & 7,000 16,333 9,333
= 2,100
Al 4,900
02 2B YAIHE £ 7,000 16,333 9,333
OEXIAL SEISH XN&H
7,000,000 *14 7,000
s 2,100
Al 4,900
s&tE A0 SHbldl X 46,000 79,200 A33,200
& 13,800
Al 32,200
301 EtE NS 46,000 79,200 233,200
= 13,800
Al 32,200
14 DBt 2 a3 46,000 79,200 A33,200
OsatE ZDicH =bhbl X1
46,000,000 *14] 46,000
=S 13,800
Al 32,200
sSitE 82 33t 140,800 150,910 210,110
201 =3 18,800 16,910 1,890
01 At2t2lt] 8,000 8,000 0
OEEll & sSi&t= g2= A
500& 16,0000 8,000
02 S3=4gl 10,800 8,910 1,890
OLUNEEZRNHA sSit= EE2E DIDAAE
=Al2l 1,800,000 *69H A 10,800
307 21201 & 122,000 134,000 212,000
02 LB AANHEE 122,000 134,000 A12,000
OXIEHA RLTC #=HE 29 X
22,000,000 *2JH 2=%50f% 22,000




A 2ZEFCN
Hm: 2ATC AW s
el sitE 22 ¥ 7S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OEEDl AHIEE K&
200,000, 0002 *17H 2 #50% 100,000
sS4 ol gdsEt 17,772 115,748 2,024
101 @1A4H| 37,372 37,348 24
04 JIZtNZ22 XS 2+ 37,372 37,348 24
ORI (Y MEHAZ 2F22l) 37,372
>llEs 2,386,780 *(30/40)x2& -8 28,642
D> oAXt=g 11,4203 6 A 2E+2 B +7H 960
> o224
5, 7103 44 A 2H2H 83 4,020
P=RUASRYES 33,620,480 *4. 5% 1,513
DAHLEEZ 33,620,480 *3.545% 1,192
PEINQAYEEE 1,191,8402%12.81% 153
PHNEZESE 33,620,480& *1.75% 589
DAESE S 33,620,4802 0. 9% 303
201 fer=3| 63,000 63,000
01 At 22|l 63,000 63,000
OsS4tE AHAHEE 29
36,000,000 *14{ 36,000
OsS42 2HHEH 88
5,000,000& *14] 5,000
OZ2FEoEs S22 gtz
2,200,000 *100H 2~ 22,000
202 04| 3,000 3,000
01 =LHOLI 3,000 3,000
OsSeE Ao & 0BIEde =20
250,000 122 3,000
301 LEtE NS 2,400 2,400
11 dAMEBIXIE S 2,400 2,400
O=gel MEAE d&X Ast
2,400,000 %14 2,400
401 Al HIZ S OHbI 12,000 10,000 2,000
01 A28l 12,000 10,000 2,000
OsS4tE AHAHEHE 2=
12,000,000 * 14! 12,000
=L SSNHE STA 22,000 22,000
307 elztol & 22,000 22,000
04 QIZHHAMAIRH 2 & 22,000 22,000
OsStt= SEHEA 22,000,000&* 14! 22,000
FERYLEN SN 77,000 85,000 /8,000
307 el2to| & 77,000 85,000 /8,000
02 2IZHBYAIHE A 77,000 85,000 28,000
O=£72gHd SEX&
77,000,000 *14! 77,000




A 2EFEEDL
Hm: 2ATC AW s
el sttt 82 2 /3 (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
saSME 2435 X2 50,000 50,000 0
= 15,000
Al 35,000
402 212+ X+=01 & 50,000 50,000 0
= 15,000
Al 35,000
02 RIENZASEZ (01 THR) 50,000 50,000 0
OsASty 243t X
100,000,000 * 1IH A +50% 50,000
== 15,000
Al 35,000
SEXNY SIS XA (HEAY) 1,440,000 800,000 640,000
= 900,000
Al 540,000
402 QI2F X201 & 1,440,000 800,000 640,000
= 900,000
Al 540,000
02 RIENZASE X (01 THR) 1,440,000 800,000 640,000
OsENA Sghetdgst X
1,800,000, 0003 » 171 A +80% 1,440,000
== 900,000
Al 540,000
AXNME & JISAIE SHS 400,000 300,000 100,000
= 120,000
Al 280,000
402 2I”F X201 & 400,000 300,000 100,000
= 120,000
Al 280,000
02 QIZHRHEAI 2% (01F TH ) 400,000 300,000 100,000
OMTIKE U IIBAIE B3
400,000,000 *14] 400,000
== 120,000
Al 280,000
ds=F Nd 4,800 61,500 A56,700
S 1,440
Al 3,360
307 212to1d 4,800 4,000 800
= 1,440
Al 3,360
02 QI HAANEE X 4,800 4,000 800
OdSF ZZM MHed & S22 N2
4,800,000 * 14 4,800
s 1,440
Al 3,360
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A 2ZEFCN
Hm: 2ATC AW s
el sitE 22 ¥ 7S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 14,040
Al 32,760
402 QIF X201 & 46,800 0 46,800
= 14,040
Al 32,760
02 QI A2 AL E R (0IHTHE) 46,800 0 46,800
OFEsYel ASIIY AlE - HHl NI
78,000,000 *17H 2= *60f% 46,800
=S 14,040
Al 32,760
ABAN & EDISAMY =4 260,000 0 260,000
7l 130,000
= 65,000
Al 65,000
402 2I2F X201 & 260,000 0 260,000
Il 130,000
= 65,000
Al 65,000
02 QI XHZ AL E R (01X THE) 260,000 0 260,000
OMBATH L BIIRMNY SA
260,000,000 *14] 260,000
Il 130,000
= 65,000
Al 65,000
dEd= 82 0hE N3 60,000 0 60,000
s 30,000
Al 30,000
307 @I2t01 & 60,000 0 60,000
[ 30,000
Al 30,000
02 2B HAHE L 60,000 0 60,000
OZE= 22 0HE K&
60,000,000 * 14 60,000
= 30,000
Al 30,000
ity =Y 143,600 256,450 A112,850
=S 25,980
Al 117,620
o= B33 57,000 70,950 213,950
402 212+ X=201H 57,000 70,950 213,950
01 IR SASE X (XHMITHR) 57,000 70,950 213,950
OB+ 523 28% 29 X
27,000,000 *14{ 27,000




A 2ZEFCN
Hm: 2ATC AW s
SRl ity =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Odt= d=g Fdl N
21,000,000& » 14 21,000
Ot I MEXH X
9,000,000 %14 9,000
ot ZHEH ML 86,600 185,500 98,900
[ 25,980
Al 60,620
402 QI2F X201 & 86,600 185,500 98,900
= 25,980
Al 60,620
02 QI X2 AL EE(0IETHE) 86,600 185,500 98,900
Ol 28 ML 85,000, 000& *50% 42,500
= 12,750
Al 29,750
O3 Jlgrxd 63,000, 000& *70% 44,100
== 13,230
Al 30,870
HosSEs=E =4 920,120 1,589,604 A\B69,484
Il 25,910
== 178,266
Al 715,944
NSE A AT K& 27,000 29,246 A2,246
307 212+01& 27,000 29,246 N2,246
02 LB HAHE L 27,000 29,246 N2,246
Oz DEISN S X
17,000,000 * 14| 17,000
Ogolix NEZdeta sl X2 (HEHIR)
10,000,000 * 14 10,000
NEE SSHS ML 130,000 167,238 A37,238
307 @120l & 80,000 111,300 A31,300
02 QB AANEE R 80,000 111,300 A31,300
=0t THEHEX X1
80,000,000 * 14! 80,000
402 QI2E X201 & 50,000 55,938 /5,938
01 QI X2 AL E A (KEHITHE) 50,000 55,938 Ab5,938
Ouistd 2} orgdat X1
22,000,000& x 14 22,000
Obldot2A e 2 =28E &Y £X
A& 28,000,000 *14! 28,000
AL B 17,500 50,000 A32,500
[ 5,250
Al 12,250
402 QI2F X201 & 17,500 50,000 A32,500
= 5,250




A 2EFEEDL
Hm: 2ATC AW s
el doEESHE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 12,250
02 QI XHE AL E R (01X THE) 17,500 50,000 A32,500
OAl& &30l eZHA 35,000,000 #50% 17,500
s 5,250
Al 12,250
HIgoteA St XA 96,000 180,000 284,000
& 28,800
Al 67,200
402 QI”F X201 & 96,000 180,000 284,000
= 28,800
Al 67,200
02 QI X2 AL E R (01X THE) 96,000 180,000 84,000
OdldsoteA SHat X
192,000, 0002 *50% 96,000
=S 28,800
Al 67,200
HlgoteA X1 A 185,000 185,500 /30,500
402 212 X201 & 155,000 185,500 /30,500
01 QI X2 AL E A (KHHITHE) 185,000 185,500 /30,500
OtldsteA & X2
80,000,000& » 14 80,000
OHIEotRA 2HIY TS
75,000,000 *14] 75,000
RS M2MEAE XA 100,000 466,240 A366,240
== 30,000
Al 70,000
402 2I2E X201 & 100,000 466,240 A366,240
< 30,000
Al 70,000
02 QI X2 AL EE(0IETHE) 100,000 466,240 N\366,240
OttXIM2AIE X3 100,000, 000& *50% 50,000
= 15,000
Al 35,000
OtHI=wES =27 a=s A2
100,000, 000& #50% 50,000
== 15,000
Al 35,000
alF MMRS X2 30,000 37,500 A7,500
= 9,000
Al 21,000
402 QI2F X201 & 30,000 37,500 AT7,500
= 9,000
Al 21,000
02 QI XHZ AL E R (01X THE) 30,000 37,500 AT7,500




SA: RREC
Hm: 2ATC AW s
el doEESHE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Oztel datzs X 60,000,000 50 30,000
= 9,000
Al 21,000
AlEEH= 59 sAM N 59,700 64,100 A4,400
307 @20l & 59,700 64,100 A4,400
02 QA HAIEE X 59,700 64,100 A4,400
Os2MH=2E 28 U2 sdtsddt X
el 29,700,000 * 14! 29,700
OLEMA LIEX MIEMH X
30,000,000 * 14 30,000
SEXS(QY) AU X2 28,875 30,750 1,875
) 11,550
< 3,465
Al 13,860
402 QI>F X201 & 28,875 30,750 A1,875
Jl 11,550
== 3,465
Al 13,860
02 QI EASEX(0IETHR) 28,875 30,750 1,875
OSSH2(24) AL StHst XI&
57,750,000 *50% 28,875
Il 11,550
== 3,465
Al 13,860
ot EHEM X 12,000 13,200 21,200
307 lztol & 12,000 13,200 21,200
02 LB HAHE L 12,000 13,200 1,200
OHIdstRA E2HEH K
12,000,000& * 14 12,000
DXL A 32,000 19,200 12,800
= 9,600
Al 22,400
307 @I2t01 & 32,000 19,200 12,800
== 9,600
Al 22,400
02 B AAHE L 32,000 19,200 12,800
ONHXITHA QHE A
64,000,000 *50% 32,000
= 9,600
Al 22,400
olar 2B IHol 3,150 2,700 450
= 945
Al 2,205
307 @120l & 3,150 2,700 450




2H: 2EEC
Hm: 2ATC AW s
el doEESHE =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 945
Al 2,205
02 2IZHB A E £ 3,150 2,700 450
Oely zlatd Tl 6,300,000 *50% 3,150
= 945
Al 2,205
VS 4 HAAIE XIH 22,99 16,330 7,665
=S 6,898
Al 16,097
402 2I2F X201 & 22,99 15,330 7,665
< 6,898
Al 16,097
02 QI TH2AILEE (01X THE) 22,99% 15,330 7,665
OLZE Qs HAAIE X
22,995,000 * 14| 22,99
= 6,898
Al 16,097
Hillsats orgdar & oluet 5 170,000 0 170,000
=S 80,000
Al 90,000
402 2I2FXH=201& 170,000 0 170,000
== 80,000
Al 90,000
02 QI TH2AILEE (01X THE) 170,000 0 170,000
OASAHS QHEMA U QI3 &
340,000,000 *50% 170,000
= 80,000
Al 90,000
0= HIOH THHHAIE X1 35,900 0 35,900
) 14,360
= 4,308
Al 17,232
402 2IF X201 & 35,900 0 35,900
Jl 14,360
[ 4,308
Al 17,232
02 QI X2 AL EE (01X THE) 36,900 0 35,900
O1=F dIJte MEHAIE XI&
71,800,000 *50% 35,900
Jl 14,360
< 4,308
Al 17,232
JF=ZE EAHD} 15,590,309 19,971,242 /4,380,933
= 1,000




A 2ZEFCN
Hm: 2ATC AW s
ol AFRE 243 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 7,064,644
Al 8,534,665
HFREE 29 190, 149 483,932 A293,783
101 @124H| 24,691 26,503 1,812
M ORINZZE2NSE S 24,691 26,503 1,812
OSYLRA(AFRE 2E % 25 ) 24,691
>llEs 2,386,780 1893 21,482
> AXtg 11,4202 +BAI 2+ 18 <8 731
>=EH=RY=S 22,211,900 *4. 5% 1,000
PALEEE 22,211,900 *3.545% 788
PARLEER 787,410 %12.81% 101
[PE=tet=: N3 22,211,900 *1.75% 389
DAHESEE 22,211,900 0. %% 200
201 el 160,658 196,829 A36,171
01 At22t2lt] 35,096 36,750 654
ORFZE 284l
2,000, 00024 14! 2,000
OEFTCoAS AMLL
70,00021%19% 23] 2,660
ONZHEOls| ALY
70,0003 * 12 %22 1,680
OKFEZE A= AlZHE 22 29
250, 00024 +3% 750
oYz 2,064
PDSE L AR B
50,000 »12& *2CH 1,200
>AIRA S| 40,0003 * 122 480
>l 16,0003 128 »20H 384
OdJ|td e84 1,695,830« 12& 20,350
Oagerd e |84 283,000+ 122 3,3%
Osd)l 838 & "|A2cEY
183,000& «12& 2,1%
2 35234l 125,562 161,079 A35,517
OFSPIEei=) 1,382,000& x12& 16,584
Os)l tlaSatERl dates
10,6602 x 122 128
OAgetdEsl A3t 50,0002 14| 50
OJFFESSHH A& - EHl |X2el
7,000,002+ 122 84,000
OUFZCESME U H=TE 293 &
LEH 1,250,000 43 5,000
OM2MEL] =Xl
100,000 %337 (%62 19,800
202 04l 4,800 5,000 A200
01 SLHoIH 4,800 5,000 A200
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2N 2EZEC
Hm: 2ATC AW s
ol AFRE 243 EEREE)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 7,054,644
308 AXISHMSOIA 14,109,288 17,920,482 3,811,194
T 7,054,644
Al 7,054,644
08 WEI|Z0CHStE = 14,109,288 17,920,482 A3,811,14
Ozlsd stugal X2(ns3d])
12,280, 136,000 & * 14! 12,280,136
= 6,140,068
Al 6,140,068
Oretyd Lasatg stuzgA XA (s
Bl) 1,829, 152,000 & * 14| 1,829,152
& 914,576
Al 914,576
33712 & I |FFEE B= 45,000 0 45,000
307 QIZ2t01A 45,000 45,000
02 QB AAIEER 45,000 45,000
O22JIZ L JIgH B=ES 23
18,0002 *2,500H 45,000
ot AFES AHAHEH 29 20,000 0 20,000
307 212+01 A 20,000 20,000
04 QUIZHHAIAIE E X 20,000 20,000
OO0tz |FFEC HIAHEBH 29
2,000,000& *103] 20,000
M2 ESLMEGH NGsF62 AR 300,000 300,000 0
301 LB F 300,000 300,000
14 J|Et2 &2 300,000 300,000
OKtR ELF[E Nd9ssatE XId
150,000 *2,000& 300,000
FEd=z22|H| XA 1,000 2,500 21,500
= 1,000
202 0441 1,000 2,500 A1,500
= 1,000
01 =LHOAb] 1,000 2,500 A1,500
OFL=I 22| FA0|
1,000,000 *14! 1,000
= 1,000
edsgy 54 2,132,228 2,183,014 A50,786
= 413,706
= 217,675
Al 1,500,847
GAPRIES =TI ot 24 XI& 4,200 4,412 N212
= 2,100
= 630
Al 1,470




A 2ZEFCN
Hm: 2ATC AW A
el EEseY =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 4,200 4,412 N212
= 2,100
== 630
Al 1,470
14 JIEt2 = 4,200 4,412 A212
OPOIZEIl OHEIA 24 XIe
210,000& x204 4,200
= 2,100
== 630
Al 1,470
sgszdEdozd 2 150,000 150,000 0
= 75,000
== 22,500
Al 52,500
201 2= 45,000 45,000 0
= 22,500
= 6,750
Al 15,750
01 AtR2tc|HI 45,000 45,000 0
OsgsiaeETz 0y 21ag
45,000,000& *14] 45,000
= 22,500
= 6,750
Al 16,750
301 LEtE NS 105,000 105,000 0
= 52,500
= 15,750
Al 36,750
14 0Bt 243 105,000 105,000 0
Osgsdeduzg st X
105,000,000 * 14 2 105,000
= 52,500
= 15,750
Al 36,750
SIIEHIE XA (HEALL) 1,075,104 1,075,104 0
== 85,701
Al 989,403
307 212+01& 1,075,104 1,075,104 0
< 85,701
Al 989,403
02 LB HAHE L 1,075,104 1,075,104 0
ORJIZdlzE XI&E 1,075,104,000& x14] 1,075,104
= 85,701
Al 989,403




2A: SZFEE
Hm: 2ATC AW A
el EEseY =4 (SH9 H2)
SN - B S(BH) - HBAY - BAS 0 &y e HIRS2
EAHSFH K& 361,936 320,938 40,998
= 251,956
T 54,990
Al 54,990
307 S1Zto| A 361,936 320,938 40,998
= 251,956
T 54,990
Al 54,990
2 QIZHEAMANSEEX 361,936 320,938 40,998
OELMEH K& 361,936,000 14 361,936
= 251,956
& 54,990
Al 54,990
EAHEH SS&E K& 49,419 85,504 36,085
= 24,709
& 12,355
Al 12,355
307 CIZ2tOIM 49,419 85,504 A36,085
= 24,709
& 12,355
Al 12,355
02 QIZHEAAMHE R 49,419 85,504 36,085
OELMNEH SSsaE K&
49,419,000 * 14| 49,419
= 24,709
== 12,355
Al 12,355
SIN=sSAH KA 54,778 64,491 N9,713
= 22,091
== 9,806
Al 22,881
402 QI2EXH201N™ 54,778 64,491 N9,713
= 22,091
= 9,806
Al 22,881
02 QIZIXHEAIE EE(OIXTHE) 54,778 64,491 N9,713
ORI=sSX K& 54,778,000 14! 54,778
= 22,091
T 9,806
Al 22,881
AN 23 3,331 16,475 A13,144
== 99
Al 2,332




A 2ZEFCN
Hm: 2ATC AW A
el EEseY =4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
402 QI2F X201 & 3,331 16,475 13,144
= 999
Al 2,332
02 QI X2 AL E R (0IHTHR) 3,331 16,475 13,144
Ozad skl 32 3,331,000 14| 3,331
= 999
Al 2,332
dtd=sg =tz A 180,000 200,000 /20,000
307 212+01& 180,000 200,000 220,000
02 LB HAHEE 180,000 200,000 220,000
OHBASY SR X
900, 0002 *250na*80% 180,000
AAHE ZetBsdE HAAIE X3 56,000 0 56,000
= 16,000
Al 40,000
402 2IZtA=01d 56,000 0 56,000
= 16,000
Al 40,000
02 RIENZASEZ(0IETHR) 56,000 0 56,000
OAMAE detdsit= datAld K13
20,000,000 x4 7(fk 56,000
< 16,000
Al 40,000
detdssts ASEMY X2 23,940 35,700 A 11,760
= 7,182
Al 16,758
301 LEtE N = 23,940 36,700 A11,760
= 7,182
Al 16,758
4Bt 2as 23,940 35,700 A11,760
OFBASAE OISR 1
700,000 5724 %6(0% 23,940
< 7,182
Al 16,758
detZols satE 28 X2 13,200 21,000 27,800
= 3,960
Al 9,240
307 elztol & 13,200 21,000 A7,800
= 3,960
Al 9,240
02 QIZtEHAEE X 13,200 21,000 27,800
OxBE =it 23N K&
22,0003 x1,0000H+60% 13,200
== 3,960
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10,000
10,000
N\3,586
7%

7%

7%

7%
4,380
4,380

6,480
A\B,480

MEE
Ofl &k2h

60,000
60,000
107,636
46,746
46,746
46,746
46,746
60,890
60,890
28,490
22,078

6,412

28,200
28,200

3,000
3,000

Ofl &F2H

50,000
50,000
50,000
104,050
47,540
47,540
47,540
47,540
47,540
56,510
56,510
28,490
22,078
22,078

6,412

6,412
21,720
21,720
18,720

3,000

3,000

3,000

3,000

3,300

3,300

3,000

- SRA(E) - HIRAY

- ESS

S - B

500,000 «100ha
11,3193 142 +300A1 2+
22,078,000 *14]
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14 JIEt
01 AFS2t2ltl
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101 e124d|

30
O
Mo
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30
1
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80
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6,412,000& * 14!
3,000,000 %14

1,560,000& «12&

01 2L AL

202 OH|

KJ
KF
oF
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Jl2ZH(2ZEED)

2,100
2,100
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1,000,000 «3CH
300,000 = 1CH
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OPC(ZLIE ) (2Al)

O152 0l
01 Xpatsd

405 Xt




